Самостоятельная работа «Показательные уравнения»
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Для всех вариантов:

№12      [image: image1.emf]  

Распределение по вариантам:

	№ варианта
	Фамилия

	1
	Голубев, Горшков, Ивкин, Новиков, Преснякова, 

	2
	Удодов, Стародубцев, Леонтьев, Пужалин, Туренкова 

	3
	Артамонова, Бойко, Солопова, Шклярук, Кочармин

	4
	Гудулова, Кислицина, Ключников, Чернецов, Пшеничнова

	5
	Омороков, Красенко, Мочалова, Уваров, Рогожин, Архипова

	6
	Андреева, Басюк, Володькина, Куликова, Брянский


1 вариант


1) � EMBED Equation.3 ���


2) � EMBED Equation.3 ���


3) 52х – 1+22х – 52х +22х + 2 =0


4) � EMBED Equation.3 ���


5) � EMBED Equation.3 ���


6) � EMBED Equation.3 ���
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�


10) � INCLUDEPICTURE "http://ok-t.ru/lektsiopedia/baza/61848696863.files/image048.gif" \* MERGEFORMATINET ���    


11) � EMBED Equation.3 ���








2 вариант


1) � EMBED Equation.3 ���


2) � EMBED Equation.3 ���


3) 2(3х – 1 – 5х – 2 =3х –2+4( 5х –3


4) � EMBED Equation.3 ���


5) � EMBED Equation.3 ���


6) � EMBED Equation.3 ���
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10) � INCLUDEPICTURE "http://ok-t.ru/lektsiopedia/baza/61848696863.files/image056.gif" \* MERGEFORMATINET ���


 11) � EMBED Equation.3 ���








3 вариант


1) � EMBED Equation.3 ���


2) � EMBED Equation.3 ���


3) � EMBED Equation.3 ���


4) � EMBED Equation.3 ���


5) 52х – 1+22х – 52х +22х + 2 =0


6) � EMBED Equation.3 ���
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�


�


10) � INCLUDEPICTURE "http://ok-t.ru/lektsiopedia/baza/61848696863.files/image048.gif" \* MERGEFORMATINET ���


11) � EMBED Equation.3 ���








6 вариант


1) � EMBED Equation.3 ���


2) � EMBED Equation.3 ���


3) � EMBED Equation.3 ���


4) � EMBED Equation.3 ���


5) � EMBED Equation.3 ���


6) 2(3х – 1 – 5х – 2 =3х –2+4( 5х –3


�


�


�


10) � INCLUDEPICTURE "http://ok-t.ru/lektsiopedia/baza/61848696863.files/image056.gif" \* MERGEFORMATINET ���


11) � EMBED Equation.3 ���











5 вариант


1) � EMBED Equation.DSMT4 ���


2) � EMBED Equation.3 ���


3) � EMBED Equation.DSMT4 ���


4) � EMBED Equation.DSMT4 ���


5) � EMBED Equation.DSMT4 ���


6) 2(3х – 1 – 5х – 2 =3х –2+4( 5х –3


�


�


�


10) � INCLUDEPICTURE "http://ok-t.ru/lektsiopedia/baza/61848696863.files/image048.gif" \* MERGEFORMATINET ���


11) � EMBED Equation.3 ���








4 вариант


1) � EMBED Equation.3 ���


2) � EMBED Equation.3 ���


3) � EMBED Equation.3 ���


4) � EMBED Equation.3 ���


5) � EMBED Equation.3 ���


6) 52х – 1+22х – 52х +22х + 2 =0


�


�


�


10) � INCLUDEPICTURE "http://ok-t.ru/lektsiopedia/baza/61848696863.files/image056.gif" \* MERGEFORMATINET ���


11) � EMBED Equation.3 ���
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